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1. M ={(x, y)‘|tan(7zx)|+sin2(7zy)=0} s N={x )| +y* <2} > JIJ[MAN|= ( ) o
A. 4 B.5 C.8 D.9
2. In ANABC and AA'B'C', if ZA=ZA" and sinB+sinC >sinB'+sinC’, then which of the
following statements is the correct statement?
A. B-C>B'-C' B. [B-C|>|B'-C| C. B-C<B'-C' D. |B-C|<|B'-C/|
3. {F}ZE RAY Fibonacci 51 : Fo=0~F1=1~F,=1~ Fn,=Fna+F.(n BEEEZAED -
5 ani':z. Hn—Z e ABIEE Gooas—Haois FEL By ( ) e
A- I:2015 B I:4029 C H2014 D GZOl4
4. Fra~b-~c BEYE  IEEHEEEE x> A% asinx+bcosx+c >0 R ITAIF />
M\%{mﬁﬁm ( ) o
A. a=b=0H ¢>0 B. va’+b*=c C. Ja’+b’<c D. va’+bh?>c
X _ Xr?+1 —4
5. TV =16 » x,=14 » %n:2 = (Vn=1)» RIEEI X BOMEER ()«
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HAAMRIE  HEETEGE =T > 895 Xno=2XnnXn
AEEESIE - HHESIPHEEE =IH > #85 X0o=2Xnu—Xn
HAARE > B EBSITEE =T > (F X2 2%
HIEESHIH - HAFAEE T EE =0 > [ X% 2Xna—Xn

o0 ®w >

6. E4Rxcosf+y+2015=0r » 0 BH=mPNRAANA » AlEENEGNER A
Be#EEE ( E
1 rx T 27 V4 T 1
A [—arctang,z) B. [O’Z)U[?’ﬁ) C. [O’Z) D. [O,Z)U[n—arctana,;r)

7. 24 A={L2,,2015) > HIEFAE A LAYREHEN HBL T A> A (HTVXYeAs X<y
HIO<fy)) 5 () (E-

2015 2015 2015 2014
A. Coos B. Cioo C. Clus D. Cios

8. ELRIG 00 =100+ » () y=fO0HIIBIG 1 EmEs » 25 G3) 4260 y=g ()Y

{5 e > Ale#h() =9(x) - TO) U RfEZ () e

1,8 2

1|g§ __|g_ .
A. 5979 B. 29 C. 3 D.0

o EHZEE (BNES 0 340 57)

9. ELHIMPIAR yi=ax BLELRAFNBE(LL)EMEAYERAHIA A RIER ERSCE: o H ISR (E A B
FITE ELARER X Bl &y 45° > HIEEE a=

1
10. In the sequence {a,}, & =2 and &1 =1~ - for all positive integers(iE#&7)(vn >1),
2015

Determine Z a =

k=1

11. B =g FO)=x"+(lga+2)x+1gh » H f(-)=-2 > #—fJxeR > f(X)=2x &
RKIL Ala+b=
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12. It is known f (X) =109: (3" +1) +58bX s an even function ( {& &) while

3

g(x)=2"+

> isan odd function (&FEx%) . Find the value of a’+h?,

13. £ 0 <X < o 0 W {E ¥ 0gg,, CosX B log,,, Ntan X £ 5 0 » HAISy 1 - Hifsinx =

14. AABC #=#%EE AB=n+3x » BC=n+2x > CA=n+x H BC &2 FAY= AD=n > Hrfn &
FEeg H 0<x<1 - Hfe Bl AABCHE [ (EARLEHEEEN) -

HI

15. 3% y=)RE HE T EREEs > BE f(a f(b)=ab (VabeR ).
f(2015)= KA R AERUE ) -

3
16 EIF G A<, X ~3x+4<byggmgem {a<x<b} (stpa<h) Hlb=_

1]

- B (BIVE 1053 - 3£ 20 77 - B ERLEESE)

. EANHRE ARG 19(20-5x°) > lg(a - x) + 198y x RA—(H > (Hda EE) K
A HyHUEEEE] -

1
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18. 3R35 ¢ {EAEME— (SRS IE F 8% {a,) > nENTHIE :
(1) 3 =243 ;

8a, . o s
(2) Vn22 > 8= 5 » FiE(EEE{a ) R EmERe : & Im a,

nN—+c0
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